
Installation Instructions

INSTALLATION TIME SKILL LEVEL

1/2 Hour 1 - Easy

TOOLS

Vehicle Application

18 mm, 22 
mm

8 mm, 3/16"

www.bestop.com - We’re here to help! Visit our web site and click on “Ask a Question”. Click here for more Truck Accessories by Bestop.

TrekStep™
• Chevrolet Silverado / GMC Sierra 1500
 Driver’s and Passenger Side
 2014 – Current 
 Part Number: 75307-15
• Chevrolet Silverado / GMC Sierra 2500/3500
Driver’s Side Only
2014 – Current
Part Number: 75307-15

22mm

http://www.bestop.com
http://www.bestop.com/index.php?a=2
http://www.bestop.com/component/products/?view=category&id=16


TrekStep™ – Installation Instructions

Rev. G 0817 75307 pg. 2

Parts List and Hardware Identifi cation Locate Rear Bumper Attachment

Remove Rear Bumper Fasteners

Linkage Assembly, 
Part Number 484.89, 
Qty - 1

Locate the rear bumper attachment point on the driver’s side of the vehicle.

Completely remove and discard the bumper fasteners. 
On some vehicles with towing packages, you will need to remove the bolts from 
the bumper bracket. Set these bolts aside to be reused later.

M6-1.0 x 20 Socket Cap Screw, 
Part Number 470.00, Qty - 4  

M14 Flat Washer, 
Part Number 
475.77, Qty - 2

Some HD Models

1/4" Spacer, Part Number 
487.64, Qty -  3

M10 Flat Washer, Part 
Number 473.20, Qty - 2

M6Flat Washer, Part 
Number 513.80, Qty - 1

M10-1.5 x 30mm Hex Bolt, 
Part Number 484.94, Qty - 2

M14 Nylock Nut, 
Part Number 
475.76, Qty - 2

M6-1.0 x 30 Socket Cap Screw, 
Part Number 513.82, Qty - 1

M10-1.5 x 65mm Hex Head Screw, 
Part Number 476.02, Qty - 2

M14-2 x 40 Hex Bolt, Part 
Number 501.07, Qty - 2

Mounting Bracket, 
Part Number 
507.49, Qty -  1

M6-1.0 x 50 Socket Cap Screw, 
Part Number 513.81, Qty - 1

Running Board Assembly, 
Part Number 514.10, Qty - 1



TrekStep™ – Installation Instructions

Rev. G 0817 75307 pg. 3

M6-1.0 x 20 Socket 
Head Cap Screws

Use two (2) M10-1.5 x 
30mm Hex Bolts, two (2) 
M10 Washers, and one 
M6-1.0 x 30 Socket 
Head Cap Screw to 
mount the Mounting 
Bracket to the Linkage.

Assemble Linkage to Mounting Bracket

Use the M6-1.0 x 20 Socket Head Cap Screws 
to mount the Step to the Linkage Assembly.

Install Step

Use the M14 Hex Bolts to mount the 
Linkage to the frame. Secure the bolts to 
the frame with 9/16" Washers and M14 
Nylock Nuts.

Install Linkage Assembly

Adjust the Step from side to side. Make sure 
to leave clearance for foot access to lower 
step. Tighten the allen head bolts.

Adjust Step Adjust Step Height

Linkage

Mounting 
BracketM6-1.0 x 30 Socket 

Head Cap Screw

Allow foot 
access to 
lower step

On some vehicles it may 
be necessary to loosen the 

bumper bracket to slide the M14 Hex 
Bolt through the top hole.

Driver’s side 
shown. Use 

mounting holes on opposite 
side for Passenger side.

If necessary to adjust the height, use the three (3) 1/4" Spacers 
provided. Remove the  M10-1.5 x 30mm Hex Bolts installed in 
Step 3. Place the 1/4" Spacers between the Frame Mount and 
the Linkage. Install the M10-1.5 x 65mm Hex Bolts.
When the Step is in the desired position tighten all nuts.

Adjust Step if Necessary

Linkage

1/4" Spacer

M10-1.5 x 30mm 
Hex Bolts

M10 
Washers

If using:
1 Spacer: M6-1.0 x 30 
Socket Head Cap Screw
2 or 3 Spacers:
M6-1.0 x 50 Socket Head 
Cap Screw



TrekStep™ – Installation Instructions

Rev. G 0817 75307 pg. 4

Operation
• The TrekStep™ is foot operated and deploys and retracts with a

nudge of your foot.
• To deploy, press down using your left foot, on the forward outside

corner of the step pad.
• To retract, gently kick the underside of the step pad.
• Max Load Capacity: 300 lbs.
• Always use appropriate hand holds when stepping up to or down

from your truck’s cargo bed.

Care and Maintenance
The step pad surface and linkage arms should be washed with mild soap and 
water using a soft brush or sponge to dislodge any mud, dirt or accumulated 
road grime. Rinse with fresh water. After it is dry, lubricate the hinge with 3-IN-
ONE Oil.
To prevent slipping, avoid applying waxes, lubricants or protectants like Armor 
All® to the step surface.

Attention!
TrekStep™ SHOULD ALWAYS BE STOWED IN THE RETRACTED 
POSITION WHEN DRIVING.



BE
ST

O
P 

W
AR

RA
NT

Y 
SU

M
M

AR
Y

Up
da

ted
 Ju

ly 
20

17

W
HA

T B
ES

TO
P W

AR
RA

NT
S 

Su
bje

ct 
to 

th
e t

erm
s a

nd
 co

nd
itio

ns
 of

 sa
le,

 in
clu

din
g a

ny
 te

rm
s a

nd
 co

nd
itio

ns
 se

t fo
rth

 by
 Be

sto
p, 

Inc
. (“

Be
sto

p”
 or

 “u
s” 

or
 “w

e”
) in

 ou
r t

he
n-c

ur
ren

t te
rm

s 
of 

sa
le 

on
 ou

r w
eb

sit
e (

co
lle

cti
ve

ly,
 th

e “
Te

rm
s”)

, B
es

top
 re

pr
es

en
ts 

an
d w

arr
an

ts 
th

at:
 th

e c
ov

ere
d p

ro
du

cts
 lis

ted
 in

 th
e “

Co
ve

red
 Pr

od
uc

ts 
an

d W
arr

an
ty 

Pe
rio

ds
” s

ec
tio

n  
(a 

“P
rod

uc
t”)

 w
ill 

su
bs

tan
tia

lly
 be

 fre
e f

rom
 de

fec
ts 

in 
m

ate
ria

ls 
an

d w
or

km
an

sh
ip 

for
 th

e s
pe

cifi
ed

 w
arr

an
ty 

pe
rio

ds
 se

t fo
rth

 in
 th

at 
se

cti
on

. 
TH

E W
AR

RA
NT

Y I
S L

IM
ITE

D 
AN

D 
CO

ND
ITI

ON
AL

    
Th

is 
wa

rra
nt

y a
pp

lie
s t

o t
he

 or
igi

na
l p

ur
ch

as
er 

of 
th

e P
rod

uc
t o

nly
. Th

e w
arr

an
ty 

is 
va

lid
 on

ly 
as

 lo
ng

 as
 th

e o
rig

ina
l re

tai
l p

ur
ch

as
er 

ow
ns

 th
e v

eh
icl

e u
po

n 
wh

ich
 th

e P
rod

uc
t is

 in
sta

lle
d. 

Th
e w

arr
an

ty 
ex

pir
es

 sh
ou

ld 
th

e P
rod

uc
t b

e r
em

ov
ed

 fro
m

 th
e o

rig
ina

l v
eh

icl
e o

r if
 th

e o
rig

ina
l v

eh
icl

e i
s t

ran
sfe

rre
d t

o a
no

th
er 

ow
ne

r. T
his

 w
arr

an
ty 

is 
no

t tr
an

sfe
rab

le 
or

 as
sig

na
ble

.  T
he

 w
arr

an
ty 

do
es

 no
t a

pp
ly 

to 
Pro

du
ct 

bo
ug

ht
 fro

m
 au

cti
on

-st
yle

 or
 pr

ice
-bi

d w
eb

sit
es

.
TH

E L
IM

ITE
D 

WA
RR

AN
TY

 AN
D 

ST
AT

ED
 RE

M
ED

IES
 AR

E S
OL

E A
ND

 EX
CL

US
IVE

 AN
D 

IN
 LI

EU
 O

F A
LL 

OT
HE

R W
AR

RA
NT

IES
 AN

D 
RE

M
ED

IES
, A

ND
 CO

M
PA

NY
 EX

PR
ES

S 
DI

SC
LA

IM
S A

LL 
IM

PL
IED

 O
R S

TA
TU

TO
RY

 O
R O

TH
ER

 W
AR

RA
NT

IES
, IN

CL
UD

IN
G W

ITH
OU

T L
IM

ITA
TIO

NS
 W

AR
RA

NT
IES

 O
F M

ER
CH

AN
TA

BI
LIT

Y, 
NO

N-
IN

FR
IN

GE
-

M
EN

T O
R F

ITN
ES

S F
OR

 A 
PA

RT
IC

UL
AR

 PU
RP

OS
E. 

IN
 N

O 
EV

EN
T W

ILL
 CO

M
PA

NY
 BE

 LI
AB

LE
 FO

R A
NY

 SP
EC

IAL
, IN

CI
DE

NT
AL

, C
ON

SE
QU

EN
TIA

L, 
PU

NI
TIV

E, 
IN

DI
RE

CT
 

OR
 EX

EM
PL

AR
Y D

AM
AG

ES
 O

F A
NY

 KI
ND

, IN
CL

UD
IN

G 
LO

ST
 PR

OF
ITS

 O
R R

EV
EN

UE
, H

OW
EV

ER
 CA

US
ED

, W
HE

TH
ER

 FO
R B

RE
AC

H 
OR

 RE
PU

DI
AT

IO
N 

OF
 CO

NT
RA

CT
, 

TO
RT

, B
RE

AC
H 

OF
 W

AR
RA

NT
Y, 

NE
GL

IG
EN

CE
, O

R O
TH

ER
W

ISE
, W

HE
TH

ER
 O

R N
OT

 CO
M

PA
NY

 W
AS

 AD
VIS

ED
 O

F T
HE

 PO
SS

IB
ILI

TY
 O

F S
UC

H 
LO

SS
 O

R D
AM

AG
ES

. 
So

m
e 

sta
te

s d
o 

no
t a

llo
w 

ex
clu

sio
n 

or
 li

m
ita

tio
n,

 so
 th

is 
m

ay
 n

ot
 ap

pl
y t

o 
yo

u.
 Th

is 
wa

rra
nt

y g
ive

s y
ou

 sp
ec

ifi
c l

eg
al

 ri
gh

ts,
 an

d 
yo

u 
m

ay
 h

av
e 

ot
he

r r
ig

ht
s w

hi
ch

 
va

ry
 fr

om
 st

at
e 

to
 st

at
e.

EX
CL

US
IO

NS
 TO

 TH
E W

AR
RA

NT
Y  

�
Th

e L
im

ite
d W

arr
an

ty 
ex

clu
de

s, 
an

d B
es

top
 is

 no
t li

ab
le 

in 
an

y w
ay

 fo
r a

ny
 w

arr
an

ty 
cla

im
s, 

da
m

ag
es

, o
r d

efe
cts

 re
lat

ed
 to

: 
•

M
isu

se
, a

bu
se

, a
cci

de
nt

s, 
va

nd
ali

sm
, n

eg
lig

en
ce

, fi
re,

 or
 im

pr
op

er 
ins

tal
lat

ion
 or

 m
od

ific
ati

on
, o

r im
pr

op
er 

or
 in

ad
eq

ua
te 

m
ain

ten
an

ce
;

•
Fa

ilu
re 

to 
co

m
ply

 w
ith

 an
y P

rod
uc

t d
oc

um
en

tat
ion

, B
es

top
 in

str
uc

tio
ns

, o
r a

pp
lic

ab
le 

law
 or

 re
gu

lat
ion

s; 
us

e i
n e

xtr
em

e c
on

dit
ion

s
•

Fo
rce

 M
aje

ur
e i

nc
lud

ing
 bu

t n
ot 

lim
ite

d t
o, 

ea
rth

qu
ak

e, 
hu

rri
ca

ne
, to

rn
ad

o, 
flo

od
ing

, o
r o

th
er 

dis
as

ter
s n

atu
ral

 or
 m

an
-m

ad
e, 

civ
il u

nr
es

t, s
tri

ke
s, 

de
cla

red
 or

 un
de

cla
red

 w
ar,

 or
 la

ck
 of

 pe
rfo

rm
an

ce
 by

, o
r d

isc
on

tin
ue

d p
ro

du
ct 

of,
 su

pp
ly 

ch
ain

 pa
rtn

ers
 w

ho
se

 pr
od

uc
ts,

 so
ftw

are
, o

pe
rat

ion
s o

r 
m

an
ag

em
en

t is
 be

yo
nd

 th
e c

on
tro

l o
f B

es
top

;
•

Da
m

ag
e r

es
ult

ing
 in

 br
ea

ka
ge

 (in
clu

din
g w

ith
ou

t li
m

ita
tio

n, 
sp

on
tan

eo
us

 br
ea

ka
ge

, a
cci

de
nt

al 
br

ea
ka

ge
 or

 br
ea

ka
ge

 by
 an

y o
th

er 
m

ea
ns

) 
of 

a P
rod

uc
t o

r a
ny

 co
m

po
ne

nt
 pa

rt;
 

•
Da

m
ag

e t
o v

iny
l w

ind
ow

s d
ue

 to
 m

isu
se

, o
r c

rac
kin

g d
ue

 to
 va

ryi
ng

 w
ea

th
er 

co
nd

itio
ns

.
YO

UR
 SO

LE
 RE

M
ED

Y
Du

rin
g t

he
 ap

pli
ca

ble
 w

arr
an

ty 
pe

rio
d, 

Be
sto

p s
ha

ll, 
at 

its
 op

tio
n, 

eit
he

r r
ep

air
 or

 re
pla

ce
 an

y P
ro

du
ct 

th
at 

it c
on

fir
m

s, 
in 

its
 di

scr
eti

on
, is

 no
n-c

om
pli

an
t w

ith
 

th
e w

arr
an

tie
s h

ere
in.

 Be
sto

p w
ill 

no
t p

ay
 fo

r la
bo

r c
ha

rg
es

 as
so

cia
ted

 w
ith

 in
sta

lla
tio

n o
r r

em
ov

al 
of 

th
e P

rod
uc

t. S
ho

uld
 a 

sp
ec

ific
 Pr

od
uc

t b
e d

isc
on

tin
ue

d, 
Be

sto
p m

ay
, a

t it
s o

pt
ion

, re
pla

ce
 th

e d
isc

on
tin

ue
d P

rod
uc

t w
ith

 a 
cu

rre
nt

 pr
od

uc
t o

r li
ke

 pr
od

uc
t. I

f B
es

top
 op

ts 
to 

rep
air

 or
 re

pla
ce

 yo
ur

 Pr
od

uc
t a

s s
et 

for
th

 
he

rei
n, 

Be
sto

p s
ha

ll u
se

 re
as

on
ab

le 
eff

or
ts 

to 
m

atc
h a

ny
 pa

tch
 or

 re
pla

ce
m

en
t to

 th
e c

olo
r a

nd
 te

xtu
re 

of 
yo

ur
 ex

ist
ing

 Pr
od

uc
t.  

Th
ere

 is
 no

 gu
ara

nt
ee

 ho
we

v-
er,

 th
at 

Be
sto

p w
ill 

be
 ab

le 
to 

m
atc

h t
he

 co
lor

 or
 te

xtu
re.

  If
 Be

sto
p i

s n
ot 

ab
le 

to 
m

atc
h t

he
 co

lor
 or

 te
xtu

re,
  it

 m
ay

 pr
ov

ide
 yo

u w
ith

 a 
bla

ck
 or

 ne
ut

ral
 co

lor
ed

 
pa

tch
 re

pla
ce

m
en

t in
 its

 di
scr

eti
on

.
Ple

as
e r

eta
in 

yo
ur

 pr
oo

f o
f p

ur
ch

as
e. 

Or
igi

na
l p

roo
f o

f p
ur

ch
as

e f
or

 th
e P

rod
uc

t m
us

t a
cco

m
pa

ny
 an

y w
arr

an
ty 

cla
im

. If
 yo

u h
av

e a
 w

arr
an

ty 
cla

im
, fi

rst
 yo

u 
m

us
t e

m
ail

 Be
sto

p C
us

tom
er 

Se
rvi

ce
 at

 cs
be

sto
p@

be
sto

p.c
om

 fo
r in

str
uc

tio
ns

.   
All

 cl
aim

s m
us

t b
e e

m
ail

ed
 to

 cs
be

sto
p@

be
sto

p.c
om

 w
ith

in 
30

 da
ys

 of
  

dis
co

ve
ry 

of 
a d

efe
cti

ve
 Pr

od
uc

t, b
ut

 in
 no

 ev
en

t la
ter

 th
an

 th
irt

y d
ay

s a
fte

r t
he

 en
d o

f th
e a

pp
lic

ab
le 

W
arr

an
ty 

Pe
rio

d (
th

e “
W

arr
an

ty 
No

tic
e P

eri
od

”).
 W

arr
an

ty 
cla

im
s m

ad
e a

fte
r t

he
 W

arr
an

ty 
No

tic
e P

eri
od

 ar
e n

ull
 an

d v
oid

 an
d B

es
top

 sh
all

 ha
ve

 no
 re

sp
on

sib
ilit

y w
ith

 re
sp

ec
t to

 su
ch

 cl
aim

s. 
TH

IS 
SE

CT
IO

N 
SE

TS
 FO

RT
H 

BE
ST

OP
’S 

SO
LE

 O
BL

IG
AT

IO
N 

& Y
OU

R S
OL

E R
EM

ED
Y W

ITH
 RE

SP
EC

T T
O 

AN
Y D

EF
EC

TS
 O

R O
TH

ER
 PR

OD
UC

T I
SS

UE
.  A

NY
 PR

OD
UC

TS
 

RE
PL

AC
ED

 U
ND

ER
 TE

RM
S O

F T
HI

S W
AR

RA
NT

Y W
ILL

 BE
 CO

VE
RE

D 
UN

DE
R T

ER
M

S &
 BA

LA
NC

E O
F T

HE
 D

UR
AT

IO
N 

OF
 TH

E O
RIG

IN
AL

 LI
M

ITE
D 

WA
RR

AN
TY

 FO
R 

SU
CH

 PR
OD

UC
T.

CO
VE

RE
D 

PR
OD

UC
TS

 AN
D 

W
AR

RA
NT

Y P
ER

IO
DS

:   
Th

e w
arr

an
ty 

tim
e p

eri
od

s a
re 

as
 fo

llo
ws

 fo
r P

rod
uc

ts 
m

an
ufa

ctu
red

 by
 Be

sto
p:

BE
ST

OP
® L

IM
ITE

D 
LIF

ET
IM

E W
AR

RA
NT

Y
Tre

kto
p®

 Pr
o T

wi
ll F

ab
ric

 To
p	

Su
nr

ide
r®

 fo
r H

ard
top

 Tw
ill 

Fa
br

ic 
To

p
Tre

kto
p®

 N
X G

lid
e T

wi
ll F

ab
ric

 To
p  

Re
pla

ce
-a-

To
p™

 Tw
ill 

Fa
br

ic 
To

p	
Tre

kto
p®

 N
X T

wi
ll F

ab
ric

 To
p	

Su
pe

rto
p®

 N
X T

wi
ll F

ab
ric

 To
p	

EZ
Fo

ld™
 So

ft T
on

ne
au

s	
Flo

or
 & 

Ca
rg

o L
ine

rs
Zip

Ra
il™

 So
ft T

on
ne

au
s	

Pe
t B

arr
ier

s
EZ

Ro
ll™

 So
ft T

on
ne

au
s

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
--

BE
ST

OP
® 5

-YE
AR

 LI
M

ITE
D 

W
AR

RA
NT

Y
Tre

kto
p®

 N
X G

lid
e™

 To
p (

no
n-T

wi
ll)	

Su
nr

ide
r®

 fo
r H

ard
top

 (n
on

-Tw
ill)

Re
pla

ce
-a-

To
p™

 To
p (

no
n-T

wi
ll)	

Tre
kto

p®
 N

X T
op

 (n
on

-Tw
ill)

	
Sa

ilc
lot

h R
ep

lac
e-a

-To
p™

	
Su

pe
rto

p®
 N

X T
op

 (n
on

-Tw
ill)

Tig
ert

op
™

 an
d H

alf
top

™
	

Su
pe

rto
p®

 Cla
ssi

c S
oft

 To
p		

Su
nr

ide
r®

 Co
m

ple
te 

So
ft T

op
	

Su
pe

rto
p®

 fo
r T

ru
ck

EZ
 Fo

ld 
Ha

rd
 To

nn
ea

u

BE
ST

OP
® 3

-YE
AR

/1
00

K 
M

ILE
S L

IM
ITE

D 
W

AR
RA

NT
Y

Po
we

rb
oa

rd
® &

 Po
we

rb
oa

rd
® N

X	
Tre

ks
tep

®, 
Sid

e M
ou

nt
Tre

ks
tep

®, 
Re

ar 
M

ou
nt

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
--

BE
ST

OP
® 3

-YE
AR

 LI
M

ITE
D 

W
AR

RA
NT

Y
Pa

ve
m

en
t E

nd
s S

pr
int

 To
p

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
--

BE
ST

OP
® 2

-YE
AR

 LI
M

ITE
D 

W
AR

RA
NT

Y
Tre

kto
p®

 Cl
as

sic
 So

ft T
op

Ro
ug

hR
ide

r™
 So

ft S
tor

ag
e

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
----

----
--

BE
ST

OP
® 1

-YE
AR

 LI
M

ITE
D 

W
AR

RA
NT

Y
All

 ot
he

r B
es

top
® &

 Pa
ve

m
en

t E
nd

s™
 pr

od
uc

ts 
no

t s
pe

cifi
ed

 ab
ov

e.

Be
sto

p, 
Inc

.  3
33

 Ce
nt

en
nia

l P
ark

wa
y, 

Ste
. B

, L
ou

isv
ille

, C
O 

  8
00

27
Ca

ll T
oll

 Fr
ee

: 8
00

-84
5-3

56
7 

Re
v.

 C
  0

71
7




